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General Instructions :
(i)  This question paper contains three parts A, B and C.

67/1/1

(ii) Part A is compulsory for all.
(iii)

There are two parts. Part B — Financial Statement Analysis and Part C —
Computerized Accounting. Attempt only one Part.

(itv) All parts of a question should be attempted at one place.
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(Accounting for Partnership Firms and Companies)

1. YEER ST & 99 B BH FT o9 TEERT & 55T SieT 9T 7
(F) TSI ST A

(@) TIEY
(M) W &% Fa9d % [0 79 T3 9HE 3 T |
() IEERI H Y=Y Jgar % SR 1

In the absence of partnership deed the profits of a firm are divided among the partners :
(a) In the ratio of capital

(b) Equally

(¢) In the ratio of time devoted for the firm’s business

(d) According to the managerial abilities of the partners

2. T NTNITHFHR F AR I TRI4:3:2: | FFET R AN e & | 1-1-2015 Fr

- l [ [} AL
%ﬁﬂ\wa\;mwa\;w ‘T FH UF 79 EER I | T AT & WIHIF F 0

% 10,000 TS AT ISRt TRET, TRETHR F, XA B WET H (99T | W I ST |§
TR § @ 3 1,00,000 F TG | T QA 7 T8 G2 [HAT 2 S SR FH G H
FR ZAT | 1

A, B, C and D were partners in a firm sharing profits in the ratio of 4 : 3 : 2 : 1. On

1
1-1-2015 they admitted E as a new partner for Eshare in the profits. E brought

T 10,000 for his share of goodwill premium which was correctly recorded in the books
by the accountant. The accountant showed goodwill at ¥ 1,00,000 in the books. Was
the accountant correct in doing so ? Give reason in support of your answer.

3. B, YA TGTIMET I EH § B & SR UET G THY TR faeRer ArETT @ % 99 5
% 12,000 =7 Y T F AT | B FH 37 TN FHT IO FA F AT T8 T RIFNT

(F) B TH TG IE % G @A & AT H SRER-SRE

(@) =, I T I o S @I S AH H SRER-aEY

(M) IH 79 F IS @ % A H SRER-SRER

(F) T 7T I S I @I % S A SRER-aNEY 1
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On the retirement of Hari from the firm of ‘Hari, Ram and Sharma’ the balance-sheet
showed a debit balance of ¥ 12,000 in the profit and loss account. For calculating the
amount payable to Hari this balance will be transferred

(a) to the credit of the capital accounts of Hari, Ram and Sharma equally
(b) to the debit of the capital accounts of Hari, Ram and Sharma equally
(c) tothe debit of the capital accounts of Ram and Sharma equally

(d) to the credit of the capital accounts of Ram and Sharma equally

4., FAR, AT T WL TH BH H WEER G T 3 : 2 : 2 F FET A AH-ENT Fed & |
23 SWER, 2015 = IH HT BT B AT | STH! B F G TF 5 @ H FH % 1T B
7T ¥ 2,350 1 TE |

r Ty ~ ™ o~ (2}
T I [T H T [T A9 TSATHET Hee ST | 1

Kumar, Verma and Naresh were partners in a firm sharing profit & loss in the ratio of
3:2:2.0n23" January, 2015 Verma died. Verma’s share of profit till the date of his
death was calculated at ¥ 2,350.

Pass necessary journal entry for the same in the books of the firm.

5.  FUT A0 S Y ST | 1

Give the meaning of forfeiture of shares.

6. T THIE T T 10 ¥=9F & 1,00,000 FHAT FT F 0 ASET SHET g | ART 9 THR
3T o

AR W — T 3 0T A9
T W — T 4 7T ST
TR YT ST ITEAT O — 9

95,000 37T 3 o7 STEET Wt &0 TAT T TSR 1 3791 T FET F2 597 T4 | FoH
J, 59 500 e F7 =T 9T TIT oT, & AT FH FAH BT HAT | AT T STH
et FE TF 750 ST T OT 7T 9T BT A FF A AR F Y F 597 9T 9T v
FET T T T FEATAT & | ST IR W 797 < 1

() ¥3,80,000
(@ 3,78,000
(m 3,800,250
(T 4,000,250
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Joy Ltd. issued 1,00,000 equity shares of ¥ 10 each. The amount was payable as
follows :

On application — X 3 per share.

On allotment — ¥ 4 per share.

On 1™ and final call — balance

Applications for 95,000 shares were received and shares were allotted to all the
applicants. Sonam to whom 500 shares were allotted failed to pay allotment money
and Gautam paid his entire amount due including the amount due on first and final call
on the 750 shares allotted to him along with allotment. The amount received on

allotment was

(a) ¥3,80,000
(b)y 3,78,000
(c) ¥3.,80,250
(d) 4,00,250

e L r ~ =~ [wd s [} ~
FG HF & AT F AT UF HE] T S29dT P SooRE IS Sk o7 Wit

T =7 S9anT fohaT ST 9T B |

State any three purposes other than ‘issue of bonus shares’ for which securities

premium can be utilized.

1-4-2013 =t 517 T foeg |, wadt @ Tog & 7 fem W fFgmedt st g
ST BT ST 2, TSR T HA0T Far | 5= HEen T 80,000 TR ¥ 50,000 T IS
T TT 3 : 2 % ST K TN S1e & o0 9EAd &Y | SEER! 9o # O IR 9% Hoas
=T 39 o W & | 39 H w5 A 7,800 T FATS HHET |

AT TOATS F W T T T 2T 31-3-2014 F FAG W I F A0 TF 747 9 H:;

SATH-BT faieTs Qe 6 R ST |

On 1-4-2013 Jay and Vijay, entered into partnership for supplying laboratory
equipments to government schools situated in remote and backward areas. They
contributed capitals of ¥ 80,000 and ¥ 50,000 respectively and agreed to share the
profits in the ratio of 3 : 2. The partnership deed provided that interest on capital shall
be allowed at 9% per annum. During the year the firm earned a profit of ¥ 7,800.
Showing your calculations clearly, prepare ‘Profit and Loss Appropriation Account” of
Jay and Vijay for the year ended 31-3-2014.
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9. HF I MEeE T 10 WF % 1,00,000 FATT 9T 7 TryE T 10,00,000 T SEFHT
ST 9 US(RpT %8 £ | AT A 5 Wi S % WIEIH W 50,000 FHAT F9 HT HE |
FERT W T 2 VT W, =T W WHIT IEd T 8 Wi YT a9 9 T YgF T SHeaw
AT R 3G & | T &7 0 B F SR & TET 79T SoRE &1 seied a7 500 e
T TH T S AT AT B STEH T 37 I AT & T

FHEIAT YA, 1956 1 =1 VI 91T 1 3 FER 2524 30edT i ‘T T 39 &g
FSERTT H T o 190 99T 395 (610 ‘W@l &1 [e@oT o7 99R HieT | 3

‘Tractors India Ltd.” is registered with an authorized capital of ¥ 10,00,000 divided
into 1,00,000 equity shares of ¥ 10 each. The company issued 50,000 equity shares at a
premium of ¥ 5 per share. ¥ 2 per share were payable with application, ¥ 8 per share
including premium on allotment and the balance amount on first and final call. The
issue was fully subscribed and all the amount due was received except the first and
final call money on 500 shares allotted to Balaram.

Present the ‘Share Capital’ in the Balance Sheet of ‘Tractors India Ltd.” as per
Schedule VI Part I of the Companies Act, 1956. Also prepare Notes to Accounts for

the same.

10. ‘T IO fAHCE, T, S SUg & HHTET T HaTae § | ST EATE We &

ARA-R T et 35 10 a1 HET S HUE Sied & [ o | s A e e %

50 FISTETET AT ST 7S AL TE T § A &7 HT MU o | FA A 10 ToF &
40,000 FHET T 74T T 100 T=2F F 1,000 9% TS HT T TR & TR HY

% 5,00,000 =1 3 1 TTE AR % 10 T |

STITIH TSI F(ETEdT SIS | FHFAT 51T ST S FAST [T S S 5] Tah 7o 1
TET HI ST | 3

‘Sangam Woollens Ltd.’, Ludhiana, are the manufacturers and exporters of woollen
garments. The company decided to distribute free of cost woollen garments to
10 villages of Lahaul and Spiti District of Himachal Pradesh. The company also
decided to employ 50 young persons from these villages in its newly established
factory. The company issued 40,000 equity shares of ¥ 10 each and 1,000 9%
debentures of ¥ 100 each to the vendors for the purchase of machinery of ¥ 5,00,000.
Pass necessary Journal Entries. Also identify any one value that the company wants to
communicate to the society.

67/1/1 5 [P.T.O.
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11, 39, ST 78 TR T BH & GERR & 77 2: 2 1 & 9T § o S 4 | 31-3-2014

T SHFT T TR0 9 R F e

I SEE! 17,000 | == 1,04,000
I T 13,000 | ST 16,000
& TRyt 23,000
3T 77,000 IHE 40,000
ESHis) 87,000 BT @ 57,000

TR 46.000 | 2,10,000
2,40,000 2,40,000

30 5[, 2014 I 39 HT & B T | JEER! @ F FER 37 H O W 12% ¥ 9%
S 39 97 | g, F1 O T A1 A S H F O GO IR T & FGT A & TR
R FT AT | Tt IR 997 51 A T /R o

EL] A

4
2010-2011 2,04,000
2011-2012 180,000
2012-2013 90,000
2013-2014 (F1) 57,000

1-4-2014 7 35 7 3797 e (901 o AW & 1o ¥ 15,000 T ST 64T |

3T & IR T I A B SR IS @I 7GR SIS |

Dev, Swati and Sanskar were partners in a firm sharing profits in the ratio of

2:2:1.0n 31-3-2014 their Balance Sheet was as follows :

Liabilities Am:“"t Assets Am;“"t
Trade Payables 17,000 | Building 1,04,000
Bank Loan 13,000 | Inventory 16,000
Capitals : Trade Receivables 23,000
Dev 77,000 Cash 40,000
Swati 87,000 Profit & Loss Alc. 57,000
Sanskar 46.000 | 2,10,000
2,40,000 2,40,000

67/1/1
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On 30" June, 2014 Dev died. According to partnership agreement Dev was entitled to
interest on capital at 12% per annum. His share of profit till the date of his death was
to be calculated on the basis of the average profits of last four years. The profits of the

last four years were :

Years Profit
L4
2010-2011 2,04,000
2011-2012 1,80,000
2012-2013 90,000

2013-2014 (Loss) 57,000
On 1-4-2014, Dev withdrew ¥ 15,000 to pay for his medical bills.

Prepare Dev’s account to be presented to his executors.

AR, T T HET T B % TEER # T AT SER died 2| BH ST e

TesTag S[@ T YIERYT T TeR0T ST & TRl 39 I I H a9 STE ) T ® | g

T T FET A, T T i SR AR R 2 | T 5N T80T (58 S e

T w0

fafedt & SgiaR] & SR S8 ST A ST 98 TR 2 | T T AT

METH &1 STEQIgeh T

4T T &1 | S9 AT 1 5@ 54, o8 AR 0= Haar § 7 a1 | 9 A S99 &
A 1:2: 1 R TEANG & | 395 [0 BH S ST I T0F B % (go0t 9 98 & e

T % T o AR TR A T 0 o1 747 | e I 597 67 o e YR S 9T

EL} ™

4
I 4,00,000
11 4,80,000
111 7.33,000
IV (F1) 33,000
% 2,20,000

(i) H TG HI AT FT

(i) FAR, T TG FIGT & AT [GHST ST F TRITT o HROT ST 6 AT 6 10

o~ 3V
FTERIF JSHHT WIS HINT |

4
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Kumar, Gupta and Kavita were partners in a firm sharing profits and losses equally.
The firm was engaged in the storage and distribution of canned juice and its godowns
were located at three different places in the city. Each godown was being managed
individually by Kumar, Gupta and Kavita. Because of increase in business activities at
the godown managed by Gupta, he had to devote more time. Gupta demanded that his
share in the profits of the firm be increased, to which Kumar and Kavita agreed. The
new profit sharing ratio was agreed to be 1 : 2 : 1. For this purpose the goodwill of the
firm was valued at two years purchase of the average profits of last five years. The

profits of the last five years were as follows :

Year Profit
4

I 4,00,000

11 4,80,000

I 7,33,000

IV (Loss) 33,000

\% 2,20,000

You are required to :
(1)  Calculate the goodwill of the firm.

(i) Pass necessary Journal Entry for the treatment of goodwill on change in profit
sharing ratio of Kumar, Gupta and Kavita.

1-4-2010 =T &S T IR F 4 @ 3 STET H T F127 & (077 Tsh FHaRI FE | 1-4-2012

. 1 - e
SN T B AT o 2 HI % (0 T T WRRR ST 6 T T et 76 9 § e

FrewES T | 31-3-2013 = TS &U Y & (00 S, T8 a2 a9 7 9 a7 5 9
SARTF o ST fFaT | T SR YT TN FT AR A F 0T T | A O

1 ST 3 R R 142013 3 7 & 5 6 3 B i 6 e

TR T4 579 SO QIEeT 921 I8 8 7 1 3 & 9T § A0 ha |
TTOTAT ST

(i) 2012-13 I & [T Hze, T q7 T, 7 797 FATH ST |

(i) T % FEY T GIES, T, T TN G BT AT T ST |
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On 1-4-2010 Sahil and Charu entered into partnership for sharing profits in the ratio of

1
4 : 3. They admitted Tanu as a new partner on 1-4-2012 for gth share which she

acquired equally from Sahil and Charu. Sahil, Charu and Tanu earned profits at a
higher rate than the normal rate of return for the year ended 31-3-2013. Therefore, they
decided to expand their business. To meet the requirements of additional capital they

1
admitted Puneet as a new partner on 1-4-2013 for 5“‘ share in profits which he

acquired from Sahil and Charu in 7 : 3 ratio.
Calculate :
(1)  New profit sharing ratio of Sahil, Charu and Tanu for the year 2012-13.

(i) New profit sharing ratio of Sahil, Charu, Tanu and Puneet on Puneet’s
admission.

9 fAee &1 AR &1 € 20,00,000 2 S 310 W@ & 2,00,000 FHAT ST H T
ot | AT A 1,00,000 T ST FIH AT F24T 31-3-2008 T FATT BT I o T SATSRT
T 79T ¥ 2 9T | S o Yo | Tk ST S UEE | Q9T HUTed, 2T, kT o Iered
7 frafe = =1 fotg forar | sTfafam & &7 sTevasar St [ F7A & (070 FHE1 & o

TEE 7 T A AU % TG e o [T I8

(i) 54,000 IHAT W HT FTHT |

(i) YRAE I ud 97T J6 F ROT TG HaT T | R 12% Ha TG H AN 5 W
ST o7 |

(iii) 9% RN T 10% F Tz I T fHaT T |

SToTRT fahoq] &1 qoiT e o T P! A 1-4-2008 F T 100 599 & 6,000 T

10% = 93 T3 (9THe =53 &7 0 o7 | 39 F0T9T &7 O AL IS 1 99 9 FRET

e I Theet § e o7 | H9Y, T8, Ui a7 O 9 &% Aq § v a9 oot 7ot

1 (9 =T TR e

EL far
4
11 1.00.000
v 1.00.000
\Y% 2.00.000
VI 2.00.000
2008-09 F 2013-14 =T & AT 9% HUTIT @I 99R) HINTT | 6
9 [P.T.O.
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Bharat Ltd. had an authorized capital of ¥ 20,00,000 divided into 2,00,000 equity
shares of ¥ 10 each. The company issued 1,00,000 shares and the dividend paid per
share was ¥ 2 for the year ended 31-3-2008. The management of the company decided
to export its products to the neighbouring countries Nepal, Bhutan, Sri Lanka and
Bangladesh. To meet the requirement of additional funds the financial manager of the
company put up the following three alternatives before its Board of Directors :

(1)  Issue 54,000 equity shares.

(i) Obtain a loan from Import and Export Bank of India. The loan was available at
12% per annum interest.

(iii) To issue 9% Debentures at a discount of 10%.

After comparing the available alternatives the company decided on 1-4-2008 to issue

6,000 9% debentures of ¥ 100 each at a discount of 10%. These debentures were

redeemable in four instalments starting from the end of third year. The amount of

debentures to be redeemed at the end of third, fourth, fifth and sixth year was as

follows :

Year Profit
4

111 1,00,000

v 1,00,000

A% 2,00,000

VI 2,00,000

Prepare 9% Debentures Account for the years 2008-09 to 2013-14.

15. 91, 9% 77 ST9IET U BH % WEEAR & 9T 5 : 3 ¢ 1 % ST § oy Sed 9 | 2-3-2015
SR FF B ST B T | TRt S g fRET e T Sgea S T R T |
T HH ST I @, TS @ R g% @ KA T E | B % A 7 39 @ 3 50
JTerEt 1 @Al SIE AT | TR AT 1 @A ek § @I S I SN
am ERGIRE LDl EE
frae w frae F
Erar 10,000| 8T 0T & T W 5,000
AR 25.000| TR FER 16,600
F T HRTHA 40,000 37 faor 3,400
I ; T 0T 15,000
fahy= s aR 16,000 S - FEET o (9T
37 o 3,400 E T 6,700
TFH T 15.000 34,400 e 12,500
I (TR FEHT) 400| FEFFETESRY 36.000| 55,200
I (AT =) 620 | FH-TAGT T I TE T
=7 o 6,220
1,10,420 1,10,420
67/1/1 10
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am ot = ST
faazm anT fag | senfew | faw T faz | amnfew
4 4 4 4 4 4
- - = ~  [@wemem | 22,0000 18,000( 10,000
- - - - IA F=T 2,500 1,500 500
24,500 19,500( 10,500 24,500 19,500( 10,500
CEREICH
BT STHT
faawor ufRy faawun b
4 4
I T AT 19,500 | == @TeT (37T 34,400
S @I (JF T o e 55,200 | AT QI (STTANGT 39T 400
80,920 80,920
Bora, Singh and Ibrahim were partners in a firm sharing profits in the ratioof 5: 3 : 1.
On 2-3-2015 their firm was dissolved. The assets were realized and the liabilities were
paid off. Given below are the Realisation Account, Partners’ Capital Accounts and
Bank Account of the firm. The accountant of the firm left a few amounts unposted in
these accounts. You are required to complete these accounts by posting the correct
amounts.
Dr. Realisation Account Cr.
Amount A t
Particulars ;un Particulars m;un
To Stock 10,000| By Provision for bad debts 5,000
To Debtors 25,000| By Sundry Creditors 16,600
To Plant and Machinery 40,000| By Bills Payable 3,400
To Bank : By Mortgage Loan 15,000
Sundry Creditors 16,000 By Bank — assets realized :
Bills Payable 3,400 Stock 6,700
Mortgage Loan 15,000 34,400 Debtors 12,500
To Bank (Outstanding repairs) 400 Plant & Machinery 36.000| 55,200
To Bank (Exp.) 620| By Bank-unrecorded assets
realized 6,220
By -
1,10,420 1,10,420
67/1/1 11 [P.T.O.
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Dr. Capital Accounts Cr.
Particulars| Bora Singh | Ibrahim | Particulars | Bora Singh | Ibrahim
5 4 4 4 3 4
- - - - By Bal. b/d 22,000 18,000 10,000
By General
- - - - 2,500 1,500 500
Reserve
24,500 19,500| 10,500 24,500( 19,500( 10,500
Bank Account
Dr. Cr.
. Amount . Amount
Particulars Particulars
3 3
To Bal. b/d 19,500| By Realisation (liabilities) 34,400
To Realisation By Realisation (unrecorded 400
(assets realized) 55,200| liabilities )
By
By AN
80,920 80,920
16. 3oH ™HeE 7 T 10 ¥@F F 75,000 FHT M H HET FE F AT FEET FAEET
T2 | T ST T 9T TR AT T
SRS TYT TS W — T 4 Wi 9T
VeH I W — T 3 W F;
TERI TR S I W — I
1,00,000 3T & AT 8T W1 BT | FHT SFEGH! T S R TR T H STFA Y
ToaT TaT TT SEET W WIS ST T T FHET FH 9 W a9 AT Y o 74T
fomr =, TR 750 9T T ST a7 TAT 9T, YR ATEAT T [T FET AT | S99 T
TR BROT I ONT AT | S U9, g AT S R | Wi S sigae, e 1000 ST
= 7T STEH fohaT o, qET rEeT IR & T 1 R 5T M | STk S99 ST W BT S forar
T | 70T f5Rg TS W S T % 9,000 F 0T WET T FH Y 4T T4 |
SRS TIFGHT & (010 HEG 21 [RTeh! H STE9geh JISHTHET Farear i |
Y
67/1/1 12
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ST YR ot = ¥ 10 Weish 3 1,20,000 3790 i ¥ 2 Wi 3797 & HHeas W T S &
T SAaEw ST 63 | T 3 T (7 W™ & e o

3R T — ¥ 2 Wi &
A R — T 5 (WA FEd) W o9

T AT HATTH IT=AT I — I

1,50,000 3797 % f&IT STTEa W BT | T STEGeh Sl ST SR T S T SE2T HT

ogm T | SAEET U WIS FTAET TR ST GEEST ST W R T F T o T | |/

I AT o TE | A, R 3,000 ST % 0 STEa R o, § Een aur W Ue

ST T T TR AT | TR, R 2,400 T S STEe SRt mar o, 7w @R

STTvTe AT T TN AR ST | FE T FRR ST %S9 ST &R0 Y o1 M7 | &R e
T3 O T T 9 W A IOT WET I AT S fEaT e

SIS TaA! o o0 Sae 97 {Hee &1 el 7 STavdeh IS Harseal i |

Alfa Ltd. invited applications for issuing 75,000 equity shares of ¥ 10 each. The

amount was payable as follows :
On application and allotment — ¥ 4 per share.
On first call — ¥ 3 per share

On second and final call — balance.

Applications for 1,00,000 shares were received. Shares were allotted to all the
applicants on pro-rata basis and excess money received with applications was
transferred towards sums due on first call. Vibha who was allotted 750 shares failed to
pay the first call. Her shares were immediately forfeited. Afterwards the second call
was made. The amount due on second call was also received except on 1000 shares,
applied by Monika. Her shares were also forfeited. All the forfeited shares were re-

issued to Mohit for ¥ 9,000 as fully paid up.

Pass necessary journal entries in the books of Alfa Ltd. for the above transactions.

OR
Y QLS
67/1/1 13 uestion [P.T.O.

Paper.com



Jeevan Dhara Ltd. invited applications for issuing 1,20,000 equity shares of ¥ 10 each

at a premium of ¥ 2 per share. The amount was payable as follows :
On application — ¥ 2 per share.

On allotment — ¥ 5 per share (including premium)

On first and final call — balance.

Applications for 1,50,000 shares were received. Shares were allotted to all the
applicants on pro-rata basis. Excess money received on applications was adjusted
towards sums due on allotment. All calls were made. Manu who had applied for 3,000
shares failed to pay the amount due on allotment and first and final call. Madhur who
was allotted 2,400 shares failed to pay the first and final call. Shares of both Manu and
Madhur were forfeited. The forfeited shares were re-issued at ¥ 9 per share as fully

paid up.

Pass necessary journal entries for the above transactions in the books of Jeevan
Dhara Ltd.

17. =& &7 BT U BH A WEIER & T 3 ;2 & ST H o Sted & | 1-4-2014 T S
Feyfer foeReT 7 WP & o
1-4-2014 i =R 7T 291 o1 fefa faavor
- A - wiH
4 z
BER 17,000| I 6,000
T I 4,000| 3R 15,000
FHHEIR ST BT 9,000| f=rer 20,000
YT SOR-=%E F19 11,000| == 14,000
TIT FON & o0 Ty 2,000| ¥ er Jaw 38,000
oo
= 30,000
T 20.000 | 50,000
93,000 93,000
67/1/1 14
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Eﬁﬁﬁ%ﬁﬁﬂ#ﬁﬂﬁﬁi%%%ﬁﬁﬂﬁﬂ?%ﬂﬁ#wwmww:

(=)
A |

(@)
Q)
()

T SR T WE-ATE FHET 74T |
FeaeT &1 eI 7ed % 15,000 o7 |
FHIRT AT & T T 6,000 1 UF 5777 47 |

(®

& T =761 @1 @it S |

e QT T WEIART & IS @ TR S |
e

FHEE, ST a9 T Uh B % TEER & 79T S

FeET T 20,000 FIHT G F AT T2l T 4,000 FIH AT F SA-HHIA F T

T T BT o ST W ST G S9! i ST & TR §X A ST | T =299

11
5.3 a\;aaﬂtrﬁﬁwawzﬁw|

1-4-2014 7 I=I T FTH TBT HTT | T= & FATHY UBT 0 0T FH T 1=ITTT T=RoT

T JPR F e
1-4-201 4 =T O, AT T T=¥ T Terfa faawor
&= ARR 12,600 = 4,100
iy FRT 3,000 30,000
T = 9,000| T2T : W 1.000 | 29.000
T 25,000
ST 40,000 10,000
ElGk 36,500 5,000
T 20.000 | 96,500 48,000
1,21,100 1,21,100
TE T BT

(F) TN = AT T 27,000 TR THIT ST |

(@)
(M)
()
(®

U I 20% FHH HT AT |

TR TR 10% Foa=s ST o |

TSy T 3T &7 ST € 2,400 2T |

=3 7 e 1 % 15,8005 & o7 |

&)
= 9o T |

TR T ST TETT F W A QT T R % IS @ R i |
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Charu and Harsha were partners in a firm sharing profits in the ratio of 3 : 2. On

1-4-2014 their Balance Sheet was as follows :

Balance Sheet of Charu and Harsha as on 1-4-2014

Amount Amount
Liabilities . Assets v
Creditors 17.000| Cash 6,000
General Reserve 4.000| Debtors 15,000
Workmen Compensation Fund 9.000| Investments 20,000
Investment Fluctuation Fund 11,000| Plant 14,000
Provision for bad debts 2,000| Land and Building 38.000
Capitals :
Charu 30,000
Harsha 20.000 50,000
93,000 93,000

On the above date Vaishali was admitted for 14" share in the profits of the firm on the

following terms :

(a)

(b)
()
(d)
(e)

Vaishali will bring ¥ 20,000 for her capital and ¥ 4,000 for her share of goodwill

premium.

All debtors were considered good.

The market value of investments was ¥ 15,000.

There was a liability of ¥ 6,000 for workmen compensation.

Capital accounts of Charu and Harsha are to be adjusted on the basis of

Vaishali’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

67/1/1
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Amit, Balan and Chander were partners in a firm sharing profits in the proportion of

|
273

on the date of Chander’s retirement was as follows :

Balance Sheet of Amit, Balan and Chander as on 1-4-2014

1 1
iy AR grespectively. Chander retired on 1-4-2014. The Balance Sheet of the firm

Liabilities Am;““t Assets Amg““t
Sundry Creditors 12,600| Bank 4,100
Provident Fund 3.000| Debtors 30,000
General Reserve 9.000]| Less : Provision 1.000 29.000
Capitals : Stock 25,000
Amit 40,000 Investments 10,000
Balan 36,500 Patents 5,000
Chander 20.000 96,500| Machinery 48,000
1,21,100 1,21,100

It was agreed that :

(a) Goodwill will be valued at ¥ 27,000.

(b) Depreciation of 10% was to be provided on machinery.
(c) Patents were to be reduced by 20%.

(d)

(e) Chander took over investments for ¥ 15,800.

Liability on account of Provident Fund was estimated at ¥ 2,400.

(f)  Amit and Balan decided to adjust their capitals in proportion of their profit

sharing ratio by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts on Chander’s retirement.

HT-9

PART -B

(Fereitt frreori st fgerson)

(Financial Statements Analysis)

ffoAEs 7 § 9 | oFeT § UHs Y8 2T 2

(F FFHZ 10,000 T FT |

(@ FHT T 14,500 FT SEIT H4T |
(m

()

17

% 74,000 T I =1 HYFR =T ¥ 9,000 1 & W 9569 T |
% 2,00,000 F 9% FOTHHT T FHAT T F UG 19T 4T |
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Which of the following transactions will result into ‘Flow of Cash’ ?

(a) Deposited ¥ 10,000 into bank.

(b)  Withdrew cash from bank ¥ 14,500.

(¢) Sale of machinery of the book value of ¥ 74,000 at a loss of ¥ 9,000.
(d) Converted X 2,00,000 9% debentures into equity shares.

19. g vETE fEeRT TR F=a TG T O FHAE] TEH e & earder 7 fEe W
ST SR S AT T % w9 ST | 59 SHH Wl [T 2 SR Sa7RY | 1

While preparing the ‘Cash Flow Statement’ the accountant of Gulfam Ltd., a financing
company showed ‘Dividend received on Investments’ as ‘Investing Activity’. Was he
correct in doing so ? Give reason.

20. TrefeiEs 7% FFa1 ST, 1956 1 =T VI T 1 & SR -7 e AN &

ST TOITE ST 2

(i) FFT IR AT R S T 59 TR
(i) TS

(iii) PTIRTEZT

(iv) T AR

(v) CED

(vi) IH= 999

(vii) 9O AT =T T T2
(viii) TH I T I 9% FOTI 4

Under which major headings the following items will be presented in the Balance
Sheet of a company as per Schedule VI Part I of the Companies Act, 1956 ?

(i)  Loans provided repayable on demand
(i) Goodwill
(i) Copyrights

(iv) Loose tools

(v) Cheques Y
(vi) General Reserve % u eSt| O n

(vii) Stock of finished goods and

(viil) 9% Debentures repayable after three years P a p e r . c O m

67/1/1 18



21. 7EF ffHee ¥ FEg Meeres 9997 8 (F) ME9 W Yo 99 (@) FoT S S0
STITE 1 T HITT
HIAT ¢ =T FEEr 75,00,000; = TR €40,00,000; F6L 376 2 27,00,000;
12% 597 T 80,00,000 TR0 =S, 3T TS #HRT § T IF a4 T 14,50,000 |
From the following information related to Naveen Ltd. calculate (a) Return on
Investment and (b) Total Assets to Debt Ratio.
Information : Fixed Assets ¥ 75.00.000; Current Assets T 40.00,000; Current
Liabilities ¥ 27.,00,000; 12% Debentures T 80,00.000 and Net Profit before Interest,
Tax and Dividend ¥ 14,50,000.
22. T ST R A9 HES W AT TRAT G2 HA 7 | T Yo el ST
REd], TR T9T ST & | 31 ATE, 2014 &1 T9E &0 IS | SHrAA1 o ¥6E o & T &1
T | AT ST | SeaTRd ST H99 I HHEET S U T S SN ST e &
fotg fhaT | 31 AT, 2013 T 2014 S THI ET I8 & [0 SHEHT 6 GEAICHS A&
e T TR T
oy feafiee
qEATHE ATH-ET( faawoT
! — e 2012-13 | 2013-14 fdar %
. 3 4 wfadT g | uRadT
FHEFAT AT 10.00.000 15,00,000| 5,00,000 50
2T HHAR] feq =9 6.00,000|  7.00,000| 1,00,000[  16.67
X T 4,00,000|  8,00,000] 4.00,000 100
H-TX 25% 1,00,000( 2.00,000] 1.00,000 100
T GIHIT AH 3,00,000|  6,00,000[ 3.00,000 100
(%) 31T, 2013 TIT 2014 F [0 IF T ST 1 T HIT |
(@) =15 ST I TEHT DI o F97 TAHE S WHTNE BT =Ee| £ | 4
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The motto of Yash Ltd.,

an advertising company is ‘Service With Dignity’.

Its

management and work force is hard-working, honest and motivated. The net profit of
the company doubled during the year ended 31-3-2014. Encouraged by its
performance company decided to give one month extra salary to all its employees.
Following is the Comparative Statement of Profit and Loss of the company for the

years ended 31* March 2013 and 2014.

Yash Ltd.
Comparative Statements of Profit and Loss.
A Note | 2012-13 | 2013-14 %l;f;’rll'fg? %
No. L4 4 - Change
Revenue from operations 10,00,000{ 15,00,000( 5.00.,000 50
Less Employees benefit expenses 6,00,000 7,00,000 1,00,000 16.67
Profit before tax 4,00,000 8,00,000] 4,00,000 100
Tax Rate 25% 1,00,000 2,00,000 1,00,000 100
Profit after tax 3,00,000 6,00,000] 3,00,000 100
(a) Calculate Net Profit Ratio for the years ending 31" March, 2013 and 2014.
(b) Identify any two values which Yash Ltd. is trying to propagate.
23.  31-3-2014 Tt gHer Tiex foigee = fefg faer e /R g 7
e uray fafies
31-3-2014 =t feufa fagzor
faawur dic | 2013-14 | 2012-13
u. 4 3
I mmaméﬂﬂrt?
(1) 3FeRmRT FRat
F) FT u“g“r 12,00,000{ 11,00,000
(@) TEI T AR | 3,00,000|  2.00,000
(2) T ST
TR T 2,40,000| 1,70,000
(3) = REETE
(F) SR I 1,79,000/  2,04,000
(@) TR AT 50,000 77,000
il 19.69,000] 17.51,000
II. aRgeEr
(1) o7 IREFar
(F) W IREHEr
O 2 |10,70,000{ 8.50,000
(i) T 3 40,000 1,12,000
(2) =L RET
(F) =T T 2,40,000[  1,50,000
@) T|IF (T 1,29,000| 1,21,000
(M) SRS 1,70,000{  1.43,000
IR EE IR T 3,20,000{ 3.75,000
il 19.69,000] 17.51,000
67/1/1 Y
U EStI on

Paper.com



T & AT
Y S 201;-14 201%?.-13
1. [99 05 e
aﬂfcqazr (TATH-ET fa=oT =7 9) 3,00,000( 2,00,000
2. AT Wt
TR 12,70,000| 10,00,000
Fe - TSHCIT Aoa= (2,00,000) | (1,50,000)
3. |oTe uimtTET
"canrey 40,000 1,12,000
srfafeaa g :
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¥ F Uk HIF, S @ T 24,000 o T MY W UHHT qogwE 16,000 @, Hr
6,000 5 597 74T |

la = 2T
dhg A8 1S90 g =h IS |

Following is the Balance Sheet of Thermal Power Ltd. as at 31-3-2014 :

Thermal Power Ltd.
Balance Sheet as at 31-3-2014
Particulars Note | 2013-14 | 2012-13
No. i 4
L EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share Capital 12,00,000] 11,00,000
(b) Reserves and Surplus 1 3,00,000 2.00,000
(2) Non Current Liabilities
Long Term Borrowings 2,400,000 1,70,000
(3) Current Liabilities
(a) Trade Payables 1,79,000 2.04,000
(b) Short Term Provisions 50,000 77.000
Total 19,69.,000( 17,51,000
IL. ASSETS
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 2 10,70,000 8.,50,000
(i) Intangible 3 40,000 1,12,000
(2) Current Assets
(a) Current Investments 2.,40,000 1,50,000
(b) Inventories 1,29.000 1,21,000
(¢) Trade Receivables 1,70,000 1.43,000
(d) Cash and Cash equivalents 3,20,000 3,75,000
Total 19,69,000( 17,51,000
67/1/1 21 [P.T.O.



Notes to Accounts :

S. No. Particulars 201314 7 201215
Ly Ly
I.  |Reserves and Surplus
Surplus (balance in statement of
Profit and Loss) 3,00,000{ 2,00,000
2. [Tangible Assets
Machinery 12,70,000| 10,00,000
Less : Accumulated Depreciation (2,00,000)| (1,50,000)
3. |Intangible Assets
Goodwill 40,000 1,12,000

18.

67/1/1

Additional information :

During the year a piece of machinery, costing ¥ 24,000 on which accumulated

depreciation was ¥ 16,000, was sold for ¥ 6,000.

Prepare Cash Flow Statement.

HAT-TT
PART - C

(rfirnferar dwe)

(Computerized Accounting)

TS SF O IS B T ST HIE T E S HI ] JIF TR SH FHI WA H AT A E I

()
(@)
(M
()

(a)
(b)
(c)
(d)

ST TS &R Sl Ueh Mook &5 VeI T STaT & |

EEREEICIRCIRIRIIEE R LR et i
SEREEIRCIRCH IR e

S WIS S AT % A a6 ST R |

A sequential code refers to a code applied to some document where :

Numbers and letters are assigned in consecutive order.

Where account heads are assigned to documents.

Special names are given to documents.

When documents are arranged in sequence of their names.

22
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SFTHIE . F AT R

(=h) SATRT STERE WHUIIC'FI [

(@) T[T ARTRT Fa= I=ar |

(T) T SR Ta=F Fomey |

(F) ST T TR & e |
‘DBMS’ stands for :

(a) Dividend Based Management System.
(b) Data Based Management Software.
(¢) Data Base Management System.

(d) Divide the Basic Master Software.

TS S 907 §RT 9SS! S S1el GEeT S GHET |

Explain the information provided by a salary bill.

TG WHEIR § WA, e aer Mo [ar Sl SeSaret S BT b SeEvde £ 2 U
T T T THET ST 2T TR WS R E

Why is it necessary to have safety, security and confidentiality features in accounting
software ? Explain any two tools which provide data safety.

SORE T W o1 T 37 7 2 THEET |

What is meant by ‘Tailored accounting software’ ? Explain.

=Y T HE T AH IO Y S8 THETRT SS9 WaHT T ST ST 1 0T S £ S
ST TS T T Bl 2 |

Name and explain the financial function which calculates accrued interest for a
security that pays periodic interest.

/
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